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This chapter presents the various measuring vessels in the wipn and their uses; the latter part is devoted to the mymof n2no
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I » mwn: dry measures
a  ppom: there were 2 dry measures — 1 17wy, used for all mman and %2 7wy, used to divide 3 »nran
i Note: even oma nmn (3 mnwy) and o8 nman (2) were measured, 1 Py at a time, in this vessel
b »”r there were three — 2 mnwy (per v. 1) and a %2 mwy (inferred from 1”8y at beginning of v. 2)
i ar222 1 17vY was small (0173 - needed to be heaping to get an pwY) and one leveled (pinn)
1 wrr used for all mnan; . used for 3" mran
2 opom: only one — per v. 2
(a) v1:alludes to the ¥ 1wy measure
(b) »77: infers that from the y"®1 (at beginning of v. 2) — (n'non disregard the 1"X1 as insignificant)
ii ~ »”r usesv.2 to teach that all measures (e.g. %R 19) are done with the 1-)7wp measure
iii  o2pom: infer that from diacritical mark over "Xy of WY (v. 3) per *ov "1 (0™ doesn’t consider M1 significant)
II 3 related questions posed by 8nn 9111 to XTON "
a  »71. did he think that the Y2 7wy was w11 or pIinn?
i Response: ask about 1321 as well
1  Answer: indeed — we have to ask whether their single 7wy was pinn or w1
ii ~ Answer: from n™’s demand that the “exacting” 11wy be ;nn, so too the %2 must be;
1 Which tells us: that both of the 1327’s are pinn
b Dividing 2’5 »m2amr: into individual m>n — by hand (i.e. approximate) or 3 (exact)
i Answer: must be by hand; else we would have to bring a scale into the w1pn, which we do not do as it is associ-
ated with a curse (13:13 RIp7)
¢ now. does the 1nYw sanctify any ymip (e.g. the nnaY, if not in the 7ra) in its w1 (raised up space)?
i Lemmal: since it is wTpn the bread, it is wTpn anything else that goes on it OR
ii ~ Lemma2: it is only wTpn that which belongs there
iii  Answer: from 13mv "v’s observation that if the bread is 2 0'nav too long for the jn%w, there is a height of 12 n'nav
that is wTpn; if 2.5 — 15 D'NOY > air space is WTPN
1 Rejection: perhaps that is only w1pn to reckon it as %109, not for na1pn
I 2 mwn: liquid measures
a v p7 vessels: pn, Y2 pn, 1/3 pn, Yapn, 19, Yanb, Vanb
i Note: nTiv "1 (Rn12) reckons them in bottom-up order
1 Point of disagreement:
(a) 77 sanctity of that which is in rim (p'¥y1’2 - if made top-down, no overflow)
(b) 7an: all can agree on w11 (either way); dispute is whether overfilling is also "X9n”; one who reckons
top-down requires exact measure; bottom-up will allow for overfilling
ii @ does not reckon the yn (had no purpose after nwn’s time [v. 4]) replaces w/1.5 nY, (1nw for 3”3 ’n>an)
1 Argument (8112273): 0N — no need for 1.5, can use a 1 and %2
(a) Counter (v"): reductio — could use % »Y for all of them; however the rule is that we can not use multi-
ple o9 for a measure - need 1.5 for 1w for 3”3 'noan
2 Note: nnon argue that since 0 was needed for nwn, it is kept around
b ¥7n7 only one vessel, with graduated marks for each of these amounts
i Note: ¥"ar1 may not have tradition of “7 liquid measures” or may have it as “7 markings” instead
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